@ 777 I\ H ﬁ Calcular porcentajes de nimeros

Nombre: Fecha: Puntuacion:
37 x10% = 9 x 80% =
93 x 80% = 60 %< 20% =
23 x 80% = 17 %< 10% =
8 x 60% = 88 x 80% =
70 x 90% = 64 x 60% =
21 x30% = 90 %< 60% =
4 x20% = 88 x70% =
37 x20% = 18 x 60% =
27 x30% = 43 x 10% =
66 x 80% = 51 x40% =
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Calcular porcentajes de nimeros

Nombre:

37 x10% = 3.7

93 x 80% = 74.4

23 x80% = 18.4

8 x 60% = 4.8

70 x 90% = 63

21 x30% = 6.3

4 x20% = 0.8

37 x20% =74

27 x30% = 8.1

66 x 80% = 52.8

Fecha:

9x80% = 7.2

60 x 20% = 12

17 x10% = 1.7

88 x 80% = 70.4

64 x 60% = 38.4

90 x 60% = 54

88 x 70% = 61.6

18 x 60% = 10.8

43 x 10% = 4.3

51 x40% = 20.4
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Puntuacion:
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